H & 0l & AHS B Ml A

S - BE - B9I(3H) - NRAY - BES

ofl &

SIEL
Ol &4

&

M

15,312,582
713,605
2,311,334
1,460,699
10,826,944

15,497,504

]

z
o
02
Jo
o
ol

&0

A

14,629,982
713,605
2,311,334
1,460,699
10,144,344

14,458,584

171,398

Z AR RIS

&0

UMY

4,286,825
24,385
264,536
533,119
3,464,785

3,324,822

962,003

S

M

97,200
58,320

9,720
29,160

A259,200

S

M H

97,200
58,320

9,720
29,160

A259,200

97,200,000 144

S

M

97,200
97,200
58,320

9,720
29,160

A259,200

Joi

M

259,200
51,840
207,360

259,200

UMY

259,200
51,840
207,360

259,200

259,200,000 14

MO

259,200

259,200
51,840
207,360

259,200

S

MO

64,800
29,120
10,704
24,976

50,960

13,840




FA BLAHA
B &40 AM Asl
Celr SARRONCAXIR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 64,800 50,960 13,840
Jl 29,120
== 10,704
[Ea 24,976
14 JIEt2 = 64,800 50,960 13,840
O SRS T
64,800,000 * 14 64,800
Il 29,120
== 10,704
o 24,976
=4H20F ICT SR 137,136 292,434 155,298
Il 73,536
== 10,600
o 53,000
402 2I2E X201 & 137,136 292,434 A155,298
Jl 73,536
= 10,600
o 53,000
02 RIENEASEZ(0IETHR) 137,136 202,434 A155,298
O &2 ICT =8 XA
127,200,000 * 14! 127,200
7l 63,600
= 10,600
o 53,000
O =&t ICT 58 NFAE
9,936,000 *14] 9,936
7l 9,936
JIEEMHES I X 276,600 114,300 162,300
== 69,150
o 207,450
307 212+01& 276,600 114,300 162,300
< 69,150
= 207,450
6 2= 276,600 114,300 162,300
O JI=MHEE Jtdl XIJAAH
922,000,000 *141%30% 276,600
= 69,150
Ea 207,450
Sitsot ggery Ad 716,000 716,000 0
402 2I2F X201 & 716,000 716,000
03 2I2+LAEAISHI 716,000 716,000
O A2 28| X2 A
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O HHX &M XA
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= 11,200
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[Ea 42,000
301 2eEN= 56,000 56,000
= 11,200
=S 2,800
s 42,000
14 0Bt 2as 56,000 56,000
O &AM=A Sdste2Hl A
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= 11,200
S 2,800
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P0SE ESAY 8,160 8,160
Jl 4,080
T 4,080
307 glztol & 8,160 8,160
Il 4,080
= 4,080
02 2B YAIAE & 8,160 8,160
O 2028 23S A
400,000 34 +60% 8,160
Jl 4,080
o 4,080
25 AIZE Ml XA 15,400 15,400
[ 3,080
Ea 12,320
307 elztol & 15,400 15,400
== 3,080
= 12,320
02 2B YA HE X 15,400 15,400
O 2F MEEJHNHl A2 A
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o 12,320
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O Hs0F A BIIAAE XA
6,000,000 *10CH*50% 30,000
= 9,000
[Ea 21,000
IR MEY 396,334 416,900 N20,566
= 16,000
= 88,967
o 291,367
cletd siatlE |§4 A2 7,000 2,000 5,000
201 er23y| 6,000 0 6,000
01 AtR2t2|HI 6,000 0 6,000
O =4 TE Y AHET 29
6,000,000 *14 6,000
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= 55,500
= 166,500
301 EtE N = 222,000 222,000 0
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[Ea 166,500
el =M |54 & o5 X 43,434 31,200 12,234
= 10,827
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o 16,912
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120, 0002 *204SET*80% 19,584
& 3,672
i 15,912
402 SI2HR= 23,850 0 23,850
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HE S sMS el 42,000 42,000 0
& 10,500
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10,000,000 7S *60% 42,000
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= 11,904
S 2,381
o 9,523
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= 11,904
= 2,381
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OGS 52| Sel= K&
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= 11,904
= 2,381
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= 960
o 3,840
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S 21,600
= 50,400
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S 10,800
fia 25,200

O 4 ZHY WEH (dgs) XA

10,0002 1,360 13,600
= 4,080
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